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QUESTION 1

Click the Exhibit button.

FC Ports

Node 2a 2b
~ tme-al00.01 . .
32 Gbls 32 Gbls
WWPN 50:0a:09:81:80:d2:c3:b8 50:0a:09:62:80:d2:c3:b8
Network Interface 1 1
Data Link Rate 32 Gb/s 16 Gb/s
Port Address b1200 a1200
Protocol FC,NVMe FC.NVMe
~ tme-a700-02 _—— s
32 Gb's 32 Gbls
WWPN 50:02:09:81:80:42:c2:b9 50:03:09:82:80:42:c2:b9
Network Interface 1 1
Data Link Rate 32 Gb/s 16 Gb/s
Port Address b1100 a1100

Referring to the exhibit, a customer is experiencing performance problems on an SVM supporting NVMe/ FC. You

review the physical FC ports that are connected into the 32 Gbps switches for cluster tme-a700.
In this scenario, what is causing the performance problems? (Choose the best answer.)

A. Port 2a needs more network interfaces added to the physical port.

B. Port 2b has a 16 Gbps SFP+ installed.

C. Port 2a needs a 16 Gbps SFP+ installed.

D. Port 2b has two many LIFs running across the physical port.

Correct Answer: A

QUESTION 2

Click the Exhibit button.
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clusfl::> fep interZace show
(vserver fcp interface show)

Logical Status Current Current Is
Vserver Interface RAdmin/Oper WWPN Node Port Home
svmO1l fc-1 up/up 20:01:00:a0:38:87:bé:ce clus0l-01 Oc true
svm01l fc-2 up/up 20:02:00:20:98:87:b6:ce clus0l-02 0d true

2 entries were displayed.

clus01l::> fcp adapter show —fields fc—wwpn. node, fc—wwnn
(network fcp adapter show)

node adapter fc-wwnn Ec-wwpn
clus01-01 0Oc 50:0a:09:80:80:31:06:da 50:0a:09:81:80:31:06:da
clus01-02 04 50:0a:09:80:80:11:04:bb 50:0a:09:81:80:11:04d:bb

2 entries were displayed.

clusDl::>

You are planning to present storage to your servers from your AFF system using FC protocol. You have a pair of FC
switches to ensure connectivity and you have decided to use WWPN zoning.

Referring to the exhibit, which two WWPNs do you use for your configuration? (Choose two.)
A. fc-2 WWPN

B. fc-1 WWPN

C. 0d WWPN

D. Oc WWPN

Correct Answer: AB

QUESTION 3

Click the Exhibit button.
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Create Share X
Folder To Share fS'E]lD‘T_Cﬂ Erowse...
Share Name sql01_ca
Comment:

[vl Enable continuous availability for Hyper-V and SQL

© Select this option if the share contains Hyper-V VHDs
over SMB

LI Encrypt data while accessing this share

) Encrypts data using SMB 3.0 to prevent unauthorized
file access on this share.

You have a mission-critical SQL application that uses a single SMB 3.1.1 share to host its database. The storage node
that is hosting the SMB share sql01_ca for the SQL database experiences a hardware failure and fails over to the
surviving node.

Referring to the exhibit, what is the state of the SMB share for the SQL database during the failover? (Choose the best
answer.)

A. The SMB share will be available, but all data is corrupted.
B. The SMB share will be unavailable until node failback.

C. The SMB share will be available, and all data is accessible.
D. The SMB share is unavailable due to its stateful nature.

Correct Answer: A

QUESTION 4

You are asked to separate replication and data traffic into their own individual VLANSs. You created two new VLANs and
need to create logical interfaces (LIFs).

In this scenario, what must you do before creating the LIFs? (Choose the best answer.)
A. Create a firewall policy.

B. Create an interface group.

C. Create a network subnet.

D. Create a broadcast domain.
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Correct Answer: B

QUESTION 5

What are three supported fabric-attached MetroCluster solutions? (Choose three.)
A. a four-node solution

B. a two-node solution

C. an eight-node solution

D. a two-node direct-attached solution

E. a two-node bridge-attached solution

Correct Answer: ABC

Reference: https://www.netapp.com/pdf.html?item=/media/13482-tr4375pdf.pdf
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